I’'m sorry to be late - Sentence patterns and examples

Class Objective: | am able to understand all the grammar pattern and example Sentences
Concept A: Grammar
*NT

The particle T that you learn in this lesson indicates a cause. Nouns used in this case are those
which indicate natural phenomena, happenings, events such as CZ. CLA. HL. etc. As with the
sentence pattern in 1, on the previous page, in this construction expressions containing volition are
not used as predicates.

1. #ELLA)T ELD F(FzB)nFELT=,

Because of the earthquake, a building collapsed.

2. WMR(V&LIE)T SH(MDLILR)E KHT)AHFELT,
Because of iliness, | took a day off work.

X ARV EIE)T HLE=z SH(DLLe)ZE KO T)HLTT,

V /| \»—Adj} Plain Form DT~

72—Adj / N} Plain Form

Like A5 that you learned in Lesson 9, ~® T indicates causes and reasons. While ~H\i5
subjectively highlights a cause or a reason, ~ @ T objectively presents a cause-and-effect
relationship as a natural course of events. As the use of ~® T softens the view of the speaker,
leaving a weak impact on the listener, it is often used to express a reason gently, to ask for
permission or to make an excuse.

1. BERE(ZIFAD)D HhoEly OT, REFEFEAVID)T @E(FH)LT WEHFEREAD.
| don’t understand Japanese, so would you please speak in English?

2. AEMDEILD HADT.HEEE)T KAL(LO2NL)WFET,

May | leave now? | have something to do.

As it is a soft expression, it is not used with the imperative or the prohibitive forms.
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